

INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 2/7/17

EVENT DATE: 3/1/17

EVENT NAME: ACCESS Entrepreneurship

CLUB: Student Alumni Association

TOTAL AMOUNT REQUESTED: \$1,513.00

TOTAL AMOUNT APPROVED: \$1,513.00

VOTE

YES: 8

NO: 0

Meeting Notes

- Host ACCESS on March 1st, CA room from 7-9pm
- Bring back a panel of alumni to talk to students about their careers
- 5-6 people in the panel
- Collaborating in econ and management classes for a wide amount of attendance
- Q&a and networking
- Private dinner prior to that
- Wanted to make this more accessible to students
- Have hosted them for the past 3 years, 2 already in the Fall for Nat Sci and Engineering
- Around 40 and 70 students attending
- Registration form will be live next week, if they register online they get asked to participate in the dinner

ASUCM PRESIDENT SIGNATURE:

Katelyn Fetzgerald

DATE: 02/13/2017

APPROVED: 🗸

NOT APPROVED:

From: <u>UCM AS UCM</u> on behalf of <u>UCM Inter-Club Council</u>

To: <u>UCM Inter-Club Council</u>

Subject: Form submission from: ICC Proposal Form **Date:** Wednesday, January 25, 2017 6:09:14 PM

Submitted on January 25, 2017

Submitted by anonymous user: [::ffff:169.236.78.23]

Submitted values are:

Contact Name (First and Last): Gabrielle Orduna Contact E-Mail: Gorduna@ucmerced.edu Club Name: Student Alumni Association

Are You a New or Returning Club for the 2016-2017 Academic Year? Returning

What Type of Proposal is This? Big Ticket

Event Date: Mar. 1, 2017 Start Time of Event: 5:30 pm End Time of Event: 9:00 pm

Event Title: A.C.C.E.S.S.: Entrepreneurship

Event Location: CA Room Description of Event:

SAA's Alumni Career Chat Employment Success Series

(A.C.C.E.S.S.) provides students with the opportunity to ask UC Merced alumni questions during the panel discussion and learn about their journey after UC Merced. Then, students engage with each of the panelist during round table discussions.

Have You Received an ASUCM Line Item for this Event? No

Budget Breakdown:

http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/a.c.c.e.s.s. entreprenuership - copy.docx

Total Amount Requested: \$1,513.00 Are You Bringing in a Speaker: No Description of Speaker (Optional):

The results of this submission may be viewed at:

http://asucm.ucmerced.edu/node/135/submission/7431



INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO N	Vame:	Student A	lumni <i>i</i>	Association
-------	-------	-----------	----------------	-------------

Event Title: A.C.C.E.S.S.: Entrepreneurship

Total Amount Requested: \$1513.00

FACILITIES – N/A

FACILITY	VENDOR	RENTAL RATE	HOURS O/USE	TOTAL PRICE

	\mathbf{H}	ON	IOR.	ARI	UM	/SPEAKI	ER – N/ <i>A</i>
--	--------------	----	------	-----	----	---------	------------------

Name(s) of Honorarium/Speaker(s):

Description of Services/Cost:

PERFORMER - N/A

Name(s) of Performer(s):

Description of Services/Cost:

ADVERTISING - N/A

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL

SUBTOTAL
TAX
GRAND TOTAL

FOOD/DRINKS – [\$902.16]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Chicken Francoise	Dinning Services	18.95	24	\$454.80
Caponata	Dinning Services	14.95	6	\$89.70
Spanish Chicken Kebab	Dinning Services	16.95	6	\$101.70
Sweetened Iced Tea	Dinning Services	12.95	6	\$77.70
Iced Water	Dinning Services	6.95	6	\$41.70
China Fee	Dinning Services	44.25	3	\$132.75
Fresh Fruit Platter	Dinning Services	41.95	3	\$125.85
Small Cheese Tray	Dinning Services	39.95	3	\$119.85
Hummus/Pita Chips	Dinning Services	29.95	2	\$59.90
Seven Layer Dip	Dinning Services	29.95	1	\$29.95
Dessert Squares	Dinning Services	11.99	5	\$59.95
Lemonade	Dinning Services	12.95	10	\$142.45
Iced Water	Dinning Services	6.95	10	\$76.45

\$1,512.75	SUBTOTAL
N/A	TAX (if applicable)
\$1,512.75	GRAND TOTAL

ADDITIONAL SUPPLIES – [\$80.00]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Rectangle Table Cloths 52x114	Dinning Services	4.00	10	\$40.00
Parking Reservation	TAPS	8.00	6	\$48.00

\$88.00 SUBTOTAL

N/A	TAX
\$80.00	GRAND TOTAL

OTHER - N/A

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL

SUBTOTAL	
TAX	
GRAND TOTAL	